11”106 (Kl 1”106)

Linearized knot diagam

\J || = -

km 58 >29—>1—>4—7—3—11—>6— 10 —>> C2,C5,C
— — — — — — — — —>> (C2,C5,C9
A knot diagra s €1 ¢4 C7  C3 C11 G Clo Y

Ideals for irreducible component#ﬂ)f Xpar

I = (—3u® — 3u'® + ... 4 4b+ 4,
6 —puM 420" + 110" — 8u't — 8u'® + 140 — Tu® — 6u” + 18u® — 8u® — 8u* + 12u® — 2u” + 4a — 2u +
w4 200 — 3 — 7wt 5t 4 120! — ut0 — w® — 13u® + 18u8 4 100 + dut + 4uP — 2u? — 4u —2)
= —u?+b—u+1, —u®+2a+ 2u, u* — 2u* +2)
Iy ={(—a*+b+a,a®—a—1,u—1)

IY={a, b+1, v-1)

* 4 irreducible components of dim¢ = 0, with total 25 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—3u'®—3u'®+- . -+4b+4, u'®—5u'*+-.-+4a+2, v'"+2u'C+. .. —4u—2)

(i) Arc colorings
o= (1)
o= (
o=
oo
o ( S
e
o= ()
(
(
(
(

asz =

ail =
SLyls g Ly gl

a = \L1yl® — 13 4. Ly 4 Ly
—ut+u? -1

ayg = ut
—ut+u? -1

alg = ’LL4

(ii) Obstruction class = —1

111 usp apes = —2u° +10u™" — 2u™” — 22u"* + 3u"" + 16u™" — 14u” + 14u® +
iii) C Sh 2016 4+ 10wt — 203 — 22u!? + Sult + 16u!0 — 14u” + 1448
10u” — 36u® + 16u* — 6u® + 4u? + 10u



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,cs wF2ul o+ 1lu—5
C2 ul” —2utC 4+ 41210425
€3 '™+ 4u'® - — 75400 — 3866
C4,C8 w20t 4 —2
Cg,C10, C11 W =2+ —1Tu—5
7 u'” —10urC 4 4+ 8u—4
Co '™ — 3u'® ... 320 — 46




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cs T2y 1 4121y — 25
€2 y'" + 50y’ + - 4 40441y — 625
€3 y'T + 70y + - - + 33732920y — 14945956
Ca, €8 y'T =10y - 8y — 4
€6, €10, C11 y'" —30y"% + - + 329y — 25
7 Yyt — 6y + ... — 96y — 16
Co Y17 4+ 31416 +

-+ 414640y — 2116




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

uw=0.076903 + 1.0064501
a = —1.28833 + 1.086241

b= —0.344784 — 0.5612091

13.5757 — 4.46621

2.93957 4 1.917821

uw=0.076903 — 1.0064501
a = —1.28833 — 1.086241
b= —0.344784 + 0.5612091

13.5757 + 4.46621

2.93957 — 1.917821

u = —0.995392 + 0.4050671
a= 0.702879 + 0.6033201
b= —0.30791 — 1.686301

0.05634 — 3.870071

—0.55814 + 7.005681

u = —0.995392 — 0.4050671
a= 0.702879 — 0.6033201
b= —0.30791 4 1.686301

0.05634 + 3.870071

—0.55814 — 7.005681

u=0.194679 + 0.7525521
a= 0.913683 + 0.4062371
0.274898 + 0.3784001

2.46422 + 0.663501

3.92785 — 1.285541

uw=0.194679 — 0.7525521
a= 0.913683 — 0.4062371
b= 0.274898 — 0.3784001

2.46422 — 0.663501

3.92785 4 1.285541

u= 11223304 0.5576731
a= 0.129300 + 0.6699331
b= —0.93908 — 1.597671

5.04445 + 4.170661

6.60682 — 3.709521

uw= 1.122330 — 0.5576731
a= 0.129300 — 0.6699331
b= —0.93908 4 1.597671

5.04445 — 4.170661

6.60682 + 3.709521

uw= 0.710570
a = —0.516138
b= 1.01848

1.26530

7.99450

u = —1.260410 4+ 0.3540161
a = —0.013562 — 0.9031931
b= 0.46322 + 2.049471

6.78062 — 4.507801

6.98768 + 3.928001




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —1.260410 — 0.3540161
= —0.013562 + 0.9031931
0.46322 — 2.049471

6.78062 + 4.507801

6.98768 — 3.928001

—0.440513 + 0.4129591
= —1.16799 — 0.875981
—0.426652 + 0.4258271

—1.48592 + 0.269041

—6.62187 — 0.628771

= —0.440513 — 0.4129591
= —1.16799 + 0.875981
—0.426652 — 0.4258271

—1.48592 — 0.269041

—6.62187 + 0.628771

1.299750 + 0.5430641
0.547862 — 1.1210001
—0.48688 + 2.87606.1

17.3459 + 9.99631

5.48062 — 4.803811

1.299750 — 0.5430641
= 0.547862 + 1.1210001
—0.48688 — 2.876061

17.3459 — 9.99631

5.48062 4 4.803811

—1.35263 + 0.450761
—1.065780 + 0.664446.1
1.25795 — 1.548601

18.0935 — 0.69301

6.24024 4 0.754401

—1.35263 — 0.450761
—1.065780 — 0.6644461
1.25795 + 1.548601

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

18.0935 + 0.69301

6.24024 — 0.754401




IL 1Y = (u®> —u? +b—u+1, —u® + 2a + 2u, u* — 2u? + 2)

(i) Arc colorings

e ()
)

ag —

%u?’—u
a2: 3 2+U_1

u

1

u2
fu —u

ud —|—u +2u—1

(
(-
(-
(-
- (V)
(2
.- (¢
(
o= (o
(-

ag =

ay =

u?+1

2% —2

0

U

%ug—ku —u—1

wd—u2+2u+1

—u —u

ud +u +2u—1
u? —1

aio = 2u? 42

u? —1
a0 =\ —2u2 42

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u? + 8



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €2, C10 (u+ 1)4
C11
c3,Co ut +2u% +2
Cq,C8 ut —2ut+2
Cs, Cp (u — 1)4
7 (u? + 2u + 2)*




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)4
€6, C10, C11
c3,C9 (y2 —|—2y—|—2)2
Cy4,C8 (y2 — 2y—|—2)2
cr (v +4)°




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

1.098680 + 0.4550901
= —0.776887 + 0.3217971
= 0.455090 — 0.0986841

2.46740 + 3.663861

4.00000 — 4.000001

= 1.098680 — 0.4550901

= —0.776887 — 0.3217971 | 2.46740 — 3.663861 | 4.00000 + 4.000001
= 0.455090 + 0.0986841
= 0.776887 +0.3217971 | 2.46740 — 3.663861 | 4.00000 + 4.000001

= —0.45509 — 2.098681

= —1.098680 — 0.4550901
= 0.776887 — 0.3217971

U

a

b

U

a

b

u = —1.098680 + 0.4550901
a

b

U

a

b = —0.45509 + 2.098681

2.46740 + 3.663861

4.00000 — 4.000001
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IIL. I¥ =(—a®*+b+a,a®—a—1, u—1)

(i) Arc colorings

o (1)

ag —
a9 =
ag =

a; =

(
(
(
(
-
(
(
(
(
(

(ii) Obstruction class = —1

(iii) Cusp Shapes =6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Ce u3—u+1
€10, C11
C2 w20+ u+1
C3,C4,C7 (U— 1)3
€]
C9 ud
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Ce y3_2y2+y_1
€10, C11
€2 y? —2y° —3y—1
C3,C4,C7 (y_ 1)3
€]
Co y3
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
u = 1.00000
a = —0.662359 + 0.5622801 1.64493 6.00000
b= 10.78492 — 1.307141
u = 1.00000
a = —0.662359 — 0.5622801 1.64493 6.00000
b= 0.78492 4+ 1.307141
u = 1.00000
a= 1.32472 1.64493 6.00000
b= 10.430160
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IV.I? =(a, b+1, v—1)

(i) Arc colorings

o= (o)

1
ag = 0

0
a2 = \—1

1
ag = 0

a; =

(
(
(
(
-
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €10, €11 u—1
C2, Cs, Cg u—+1
€3,C4,C7 u
Cg, Co
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs5 Y — 1
€6, C10, C11
C3,C4,C7 y
Cs, C9

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I} v/—1(vol ++1/—1CS8) | Cusp shape
v = 1.00000
a= 0 0 0
b = —1.00000
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V. u-Polynomials

Crossings u-Polynomials at each crossing
1 (w—1)(u+1)*(u® —u+ 1) (" +2u'® + - 4 11u — 5)
C2 (u+ 1% (u® +2u? +u+ 1) (u'” — 2’ + - + 121u + 25)
€3 u(u—1)*(u* + 2u? + 2) (u'” + 4u'® + - - . — 7540u — 3866)

C4,C8 u(u —1)3(u? — 2u® 4+ 2)(u'” + 20 4 - — 4u — 2)
C5 (v—1D)Mu+1)(u® —u+ 1) 426 + -+ 11u - 5)
Co (u—1D)Mu+1)(u® —u+ 1) =26+ —17u - 5)
cr u(u —1)3(u? + 2u 4+ 2)? (u'” — 1066 + .-+ + 8u — 4)
9 ut (ut 4 2u® + 2)(u'” — 3ul® 4 -+ 32u — 46)
€10, C11 (u—1)(u+1)*w® —u+1)(u'” —2u' ... —17u - 5)
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, 65 (y=D") @ = 20> +y = D' +2y"° + - + 121y — 25)
C2 ((y— 1)%) (5% — 242 — 3y — 1)(y'7 + 5096 + - - - + 40441y — 625)
c3 yly — 1’ (" + 2y +2)°
-yt 4 70y 4 - + 33732920y — 14945956)
ca, s y(y— 1> =2y +2)°(y"" — 10y + - + 8y — 4)
C65 €105 C11 (=D =20 +y - 1)(y"" —30y"° + - 4 329y — 25)
c1 yly — 1) (* +4)*(y'" — 6y'° +--- — 96y — 16)
Co v 2 + 2y +2)2(y' 7 4 31y + - - - + 14640y — 2116)
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